(547 | y74n=-319Y-VL
|a. % | XS—150P3-258m
§ BEE2 | KAPHOO015% 3
| F@E(S=1:20) | [A- ABTHEN (S=1:10)]
2 0-100x50x2.3
THHo & +HERKER 1500
/
] / 14050, 1120 50,140
B 7 -
1—. 4-M16x 145 S
B A GRESEMOARN b (57 4y | ps) N ~
B 2-M12x25
2 0-100x100x3.2 1 N o
R & + HRAKES ™ \ I 3
\ T\ ! | [hll
\ == / / \ b | 3|
1 \\ / o __ 7 L]
/ R 70 3 BB I
THRA b+ RRER (RFYN9-) o,
ERAZV1Zy | %
TU-L: 7L REDH The4 I TBRER (A5V A7) 2
E R Ry 7-F2- B t=30 KERBIL - F |
[ E@®(S=1:20) | [ M@ ®(S=1:20) |
|
8140 .
- 8000(801000) - 1500
1155 345 |
1000 3000 3000 1000 E20EL
A -
( ) _ '
I I - | 8
| i & N T 0150x 75%t3.2
~ ~ ~ T THhno & + HERRER
i ~ ; 7 (XHRK : 2950m / m) !
A
160 Ty #asy b ' T 160 BT LAER '
70 BB 7 0 3 BB S
7VA L+ BRER (A7Y17-) THIA N+ ERER (RA7Y17-) | &
| | ! |
o KB $62xt1.4 I
7 1 S REBH
| | | | TNIA L+ ERER (ATVHI-)
| [
| | % 0150x75xt3.2 |1 = I
THno & +HRAKER &
(XBRE: 2950m 7/ m) \ CEETLR |
R
| | ! | TUeA b BREE (RFYHT-)
I
|
| | ! |
0550 |
o I
| | | e |
l l —
| =] | L
A 3| =
X T Nl
o 8 S
=i / =
4 000 SN 000 ) 4080 0880 r '
o
400 | 400 s 700 400 : bem
= R 100 800 100 . 100 1100 100 ! !
| BEMEHME (S=1:5)]| ! !
- 1000 1300 LE7yh—%N b
_— [CHEMmHMN (S=1:2)] oo -
RIRy b B - - v
73 pun Mi0x25 [N-27LU- 13N (S=1:10)] | 7vH-38 (S=1:5) |
T4 VA ERER ATV H9-) giﬁ:g:&n
> } 4-922 o M16 295
2 0-100x100x 3.2 1000 1000 (BRAZXV2=y 1) 1000 | | " T10m7m
FH0o & + BERAKEE ERAIRs b ER2naz, b _*f_ } =
h=7J34V} Bl : £00-#2- | BER t=3.0 RAR: 713 REBH
o KERBEIL-F T34 M+ BRER A7V NI-) ol o
~ ®© 3| 3 7Y% b
~ D16 CRBAR "\ 8
) = ! s
M
30 240 30
10/ /] 50 R EL | UEARED )
BRSABNENT IR/ M12x75 FAa-+ (70) EBRAZVLIZy 1) 300 J
M4x 13 - SE: 70 3 BBt
%2 O-100X50%2.3 S — — 7LIA b+ BRER (AFYN7-)
BRho 5+ BENAES TWI4 b+ BRER (ATFYNI-) 64




